
Odpovědi k úlohám

Ad 1.
𝜋/2

∫
−𝜋/2

d𝜑
2 cos𝜑

∫
0

𝑟d𝑟.

Ad 2.
𝜋/2

∫
0

d𝜑

1
sin𝜑+cos𝜑

∫
0

𝑟d𝑟.

Ad 3.
𝜋/4

∫
0

d𝜑

𝑎 cos𝜑
sin2 𝜑

∫
0
𝑟d𝑟 +

3𝜋/4

∫
𝜋/4

d𝜑
𝑎/ sin𝜑

∫
0

𝑟d𝑟 +

+
𝜋
∫
3𝜋/4

d𝜑

𝑎 cos𝜑
sin2 𝜑

∫
0
𝑟d𝑟.

Ad 4.
𝜋/4

∫
−𝜋/4

d𝜑
𝑎√cos 2𝜑

∫
0

𝑟d𝑟.

Ad 5.
𝑏
∫
𝑎
𝑢 d𝑢

𝛽

∫
𝛼

d𝑣.

Ad 6. 12

2
∫
1

d𝑢
4−𝑢

∫
−𝑢

d𝑣.

Ad 7. 4
𝜋/2

∫
0

d𝜓 cos3 𝜓 sin3 𝜓
𝑎
∫
0
𝜌 d𝜌.

Ad 8.
1
∫
−1
𝑓(𝑢) d𝑢.

Ad 9. ln 2 ⋅
2
∫
1
𝑓(𝑢) d𝑢.

Ad 10. 1 + 37
128 − ln 2.

Ad 11. 𝜋√2 .

Ad 12. 2𝜋𝑎𝑏3 .

Ad 13. 𝑡
2𝜋
∫
0
𝑓(𝑡 cos𝜑, 𝑡 sin𝜑) d𝜑.

Ad 14. Čtverec 0 ≤ 𝑢 ≤ 1, 0 ≤ 𝑣 ≤ 1.
Ad 15. 𝑢 = 𝑥𝑦, 𝑣 = 𝑥 − 𝑦.
Ad 16. 𝑎𝑏/70.

Ad 17.
(𝛽 − 𝛼)(𝑏2 − 𝑎2)
2(𝛼 + 1)(𝛽 + 1) .

Ad 18. 𝑎
2 ln 2
2 .

Ad 19. 43 (𝑞 − 𝑝)(𝑏 − 𝑎).
Ad 20. 1

(𝛼 − 𝛽)(𝛽 − 1) .

Ad 21. 1
𝑝 − 1 .

Ad 22. 𝜋
𝑝 − 1 .

Ad 23. 2𝜋.
Ad 24. 𝜋2 .
Ad 25. 𝜋.
Ad 26. 𝜋/2.


